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— 11 9129 9257 9N
If so, then even if he can say 1"53, the same rule should also apply

OVERVIEW

It would seem obvious that given a choice between requiring a bW to say
1"92 or having 2*7¥ to be 0pn the v, saying 1"92 is the easier and therefore
the more practical method of validating the va.

The X713, in two instances of attempting to refute 727 (from the mawn of 11X
715° and from the X°v2°X of 2X1W), rejects the purported refutation by stating
that we are discussing 117w 1R, Therefore 1"92 need not be said (and 2vp
is sufficient in the case of 712’ 11°X). To which the X723 responds (in the first
7"R case): "on1 °R, if it is 1725w NKR then 11 15, that even if he is capable of
saying 1"932, nevertheless we should treat him in the same manner as 212> 1°X;
namely that 01p should suffice. This would seem bizarre; 01 is more
difficult than saying 1"93, why would we want o1p instead of 1"92?! The
difficulty becomes even greater in the second 377 X', where the X723 asks 7'
"n1; seemingly suggesting that 71 should be treated as *2n and no 1"92 should
be said since it is 1717w X, This cannot be; for 1"52 must certainly be said
(at least) for 01°p. This N9 will address the difficulty in these two 277 °X'.

= PNRMN DPI N0 1) DI YWINY
The explanation of the question "1 215 7"X' is: Even if he can say 1"52 the
authentication of the signatures should suffice!, and he need not say 1"

moon asks how can the XM even suggest that two witnesses should suffice; two

witnesses are an additional requirement!
= NA9Y 19D NOVD NI 9NN ON)

And if you will say; why is there a question on 7729 more than on X31?
- PP TN 192 1PN YIDNIT Y NN NAYYT 9990 %

Just like according to X239, the mwn (of 1% 2127 K1) is understood, for
he explains the 71w» in the following manner: if he is incapable of saying
1"92, then @Yp is required -

= DY P98 1PN DHN AN 293 9IINA 2D D15’ HaN

' mooin, by saying: w1, is seemingly rejecting other possible interpretation of “n1 913°'; that are
mentioned in this MooIN. Alternately, NMo0I1N says "w1°9', to indicate this is the vws, even though there is a
difficulty in explaining it, as evidenced in this msoin.
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However, if he is capable, it is sufficient when he says 1''192 and two

witnesses are not required’ to be o»pn the v3. -
= DY NI N9 11ROV INNRIT NAY YD 99 9N

17129 will explain the 71wn in the same manner; for after the people learnt
the requirement of 7nwY, then 7127 and X237 are equal. Therefore (according to

727 also) if he cannot speak, two o7V are required for 21’2 (and no 1"1191 is necessary
since it is 1727w 1R?), however if he can speak then one °%w is sufficient to say 1"1192.

MB0IN answers:
= PHRMN DY SPAT IIWINWYND DI 1N NINT NN NIIDT O 139249 9INY

And the n''1 says; that according to 829 the 71w» is understood, the 7awn
teaches us the case of "12% 1K' to let us know that (only/even?) in the case
of 9127 1K, is 1M 2P required -

= 195N P 195 NXIY 3PWN RYT 2) DY X 2593 393 9DIND %D 1592 YaN
However, when he is capable, saying 1''s2 is sufficient even though that
the saying of 1"92 is not as desirable according to X2 as »nn avp ist,
The entire 7pn of 1"93, according to X217, was only for 2vp. It is understood that 21p
1 accomplishes it more effectively than merely saying 1"93. Therefore, o1p has a

greater status than 1"52. We cannot ask that by "1 915”', let the greater status suffice! That
01'p should suffice. o1 is not merely sufficient, 01p is the optimal resolution.

— DNRYY DYV TYNY SPNMN DPN 4>TY ANI) 293 Ha9Y YaN
However, according to 1739, 1''22 is preferable to y»nw3 a»p for by saying

1"91 he testifies that the v was executed 2w» -
= PHNN DPPA D DI 1INRT 1IMMNYND NN NN TN by

Perforce we must conclude that since 1"92 enjoys a higher status than 21p

2 The underlying thought here is that while o1p is the optimal fulfillment of the requirement, nevertheless
1"p1 is also sufficient.
3 mpoIn, in passing, may be answering a certain difficulty with the 7awn of 913> 1°X. The 73wn seems to teach
us that if 1"93 is not said then avp is required. Why then state 213° X3, the 73wn could have said R X7
(see previous ¥»°2°K 11"7 '01n)? This question [in the X"¥7] is on X327 (not on 727. According to 7127 only in a
case of 719’ 1°K are we lenient to allow only 01p without 1"92 for mnw?). Moo may be alluding to the y1°n
of the X"aw. If the mwn would have merely said that 1"nnIm2 0>pn> TR &2 oX), I may have thought that in
the case of a wannn npo, where the V3 was sent properly with every intention of saying 1"93; in such an
unusual occurrence, we will require neither 01°p nor 1"53, since it is only a 57 NIPN to say 1"53, and this is
a 22 Rmow X27 Xn2°n. This is perhaps what mooIn is saying that Yann orp *v27 19 WwR? 9127 1R Xin7. That
even 212’ X requires 0vp. For otherwise, is it necessary for the m1wn of 912° 1K to teach us Y ovp is
valid?! It is obvious, since according to X217 the entire 192 is on account of 21°p. See X"2aw" and 2py> NIRAN.
4 The term 30" or ‘sufficient’ does not (only) mean we may rely on the easier method, but rather we may
rely on the lesser or weaker method.
5 See ‘Thinking it over’ # 1.
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i, then it 1s understood that the w2 comes to teach us (not that o1p is
required, for the ultimate requirement would be 1"93, but rather) that in the case of

9127 WX then mr 2 (which has a lesser status) is merely sufficientS. The

reason it is sufficient is —
= PNRMN DIPA DD XD 333 D199 11IDYW INNRD 19NPINT 1992

Since we have established the 71wn in the period of 1729w anKY; the X
therefore rightfully asks; if o1p is sufficient for 215> 1, then even if he is
capable, 17 21°p should also be sufficient’; 1752 should not be required®.

- Y991 NP

And concerning the question’ later in the X713, which is similarly difficult

to understand, the n" explains it in the same manner.'° This is what the X725 later
means to ask when it states: 11 717 707 X' —

= NN 299 INMY S¥32T 313) TN 291 ON

If this is so that Xmw and X171 27 were discussing the time of 1717w TnKY,

then ®X¥2 should have asked of X177 29, also in a case where one mow

brought the v3 -
= YIY YNMY NIITT 1195 PHIMN DP9 N

® For, optimally we would prefer 1"92 which addresses nw® as well.
" There is a difference in the relative status of 192 versus 01 as to which is (optimally) required and which
is (merely) sufficient, between 1727 and X27. According to 727 who is concerned (also) about nw9, then 152
is required (for it informs us both concerning w5 and 01°p), while o1p alone is merely sufficient ( nX?
1719w). However, according to ¥31 who is concerned only about avp, then arp is required, while 1"92 is
sufficient. The concepts of ‘required’ and ‘sufficient’ are not based on the relative ease or difficulty of
executing the procedure (as moon presumed in the Xwp), but rather on what is accomplished by their
execution.
8 The m"5w therefore need not be there by ux1 n»°nm N2°n> (making it [also] perhaps slightly ‘easier’ than
arp). [Maon answer may be rephrased as follows: According to X217 that o1°p is optimal, the 71wn of 1R
915 is coming to teach us that even by a "°ow &27 8n2°n, nevertheless, 0P is required, since 1"52 cannot be
said. (See footnote # 3.) If, however 1"92 can be said, there is no need for arp. According to 727 who
maintains initially 1725 077 that 1"92 is optimal (2vp is not sufficient), we are forced to say that the mwn
of 2127 WK1 is 11w XY (otherwise how can ovp help). The purpose of the mwn is to teach us that nx?
1719w, even 0P is sufficient. If that is what the m1wn is teaching us why does it limit itself to a case of 1%
915°? The mwn should have simply said that (1727w nRY), 01 is sufficient even by 713°. (See n'"ni.)]
° The X m3 quotes an X°Y2’X from YXMW concerning two people who brought a v3; are they required to say
1"92. X177 27 responded that they are not required. This is a refutation of 7127. The X3 answered that we are
discussing the era of 1727w InK?; therefore, MW is of no concern. To which the X773 asks: 7m 199K 27 X'
“n3; that if one brings a v3 he should not be 27n to say 1"92! This question of the X3 is puzzling.
Obviously one m>w must say 1"92 at least for op (since X277 7% n°X 727). How can the x7n3 ask: 717 "oX 7"
n?!
107t is based on what was previously stated, that according to 7137, the efficacy of 102 is greater than ovp.
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Is »»mn avp sufficient!! without saying 1'92 since there is nothing to be

concerned about? It is 1727w 2nxY; there is no wwn of 7w> only of arp. We do not

need 1"1193, for o1p is sufficient. -
= Y199 NYD 119D 122 D9 KD N7 IN

Or perhaps the o°no1 did not differentiate between the times of 172% and

the times of 17%% X¥. In all eras the 0151 required the saying of 1"1193, for a1p alone is

not sufficient.
- 151‘,75‘,75 9290 NN XY OIVN NIN) TO989 Y9 XLV UMY

And the X713 there answers; 2X12W did not ask this question, because he was
certain that 1"1192 is required and o1p is not sufficient, because there is a
decree that 01p alone is insufficient, on account that we are concerned

perhaps the situation will revert to its original faulty status. People may again
not be careful concerning mnws.

[Concerning both questions of "X, the X3 argues that the original statements (the m1wn
of 912° 1% and the X°y2°X of PX1w) should not be limited to 713° 11°X and 02w, but should
include 12° and 711.]

moon will now offer another explanation for the two questions of 377 *X'":
= 9133 D199 991 N 7999 19N WI9NI PN 19299

And the >''9 explains; this is what the X3 is asking: if so that we are

discussing 112w nXR?, then even when he is capable of saying 1"92,

nevertheless in a situation -
= Y1397 1995 DNNI ANI %192 NAID I TIVYY ND DD 7298 PRT RO

Where 217 is not required, he should not be required to say 1''1s2

according to 1721 since the people learnt to write 72w Pv23; so why is it that -
= D NI NN NHINAY Y9N 2 NINNA 19299N DIy

Previously the X723 says concerning a vi that was brought by two people,

and also concerning a v that was brought in the same country overseas -
- OIS PIINN 2INP ) 3N DAY

That according to 1739, even in these situations mentioned, our ;73wm» states

that it is required to say 1"02.'> The question is why is 1"92 required, since/if it is
1715w X%, There is no wwn of either a1p or "nWS.

mooin will respond to the anticipated question: Perhaps the differences mentioned

" According to 7127 (who maintains 72w?), the situation of 71 with a1p is very similar to 0w without avp.
In both situations there is no concern for a1°p, only a concern of Tnw5.
12 The xmx previously stated these two cases as defining the practical difference between 727 and Xan.
According to 1127 in these cases 1"91 is required.
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between 1727 and X271 concerning our 7Iwn is in the time of 115w o7p. Why does the "
assume that these differences are even 1725w 2nKR?? MDOIN explains:

= Y1352 NIPIND 19 1IN PHINN NI4T
For it is proper that we interpret the entire set of our nyw» after the

time of 172%. To prove this point, Moon continues —
= N0 ANAN NNIXY AYNNDT 1PNINNN 729991
Since the X773 asks from the 71w of 7wSH IRS2% ARIY WK, which is in P79
2. The X7n3 attempts to refute that which was said (prior) that 1725w nx> then by a Xno"n
X°OW X97, an unusual occurrence, 1"92 is not required. The X7 challenges this
assumption for we see that by nv) X°2nw 7n¥y AwK7 which is a XmoOw X927 Xn» and
nevertheless 1"92 is required. The fact that the X723 attempts this refutation proves that the
X3 assumes that the mwn of anXY AWRT is 1MW NRY; otherwise, there would be no
refutation -
= 97252 999N 923 XY 15 ON)
And if so, that the X773 assumes the 71wn of 7AXY JWRT to be 1A% INRY,

then the beginning of the noon, i.e., our MWy, is also discussing 1725w nX5.
Therefore, the question is; since our Wwn is occurring 1717w INR?, and X327 727 are
discussing our 71wn, then why should 7127 require 1"92 in the case of 0 "2 171 NX or ANIR2
arTn?!

= 9133 1N Y91 N Y9 W NT 1239
And in this same manner we can interpret the other °377 °X (namely), ‘if so,

then even one’ m5w that brings a v where 0p is not required, i.e., 7172 AMKX32, then
1"92 should not be required. Why do we say in the 17°1°2 °X» that according to 7127 even
179w NRY, that 192 is required 73> ININA.

moo1n will now cite s>"wA (initial) interpretation:
= 9123 10 291 AN 133 D129 3N INT NOVIP TN 1T AN Y192 »/WH aNd NYINNN)

And initially »''w9 wrote in his own handwritten commentary that this

(first) question of %1 ®12° %577 °X and the later question of 21 717 9277 °X, that
these two questions -

= N2YT 1Y 199 N7 NYPIY NPT NPYDT INNDY 999N
Are discussing according to that which we originally thought that 1739

does not agree to X219, and 727 maintains that there is no concern of a1p. The two
questions are then simply understood. If it is 1722w X7 and X277 7°% n°% 729, there is no
need for 1"51 at all.

mooIn anticipates the obvious question; how can we say that X277 7°% n°% 729; we have
just previously concluded that 277 7°% n°R 7727 DN responds:

= TONND 99 22N 971N RINN AMNNT INAT ©/YN 797 194
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For this is customary in the X923 that after there was a refutation from
one source, and therefore we reached a new conclusion, as in our case that

X277 7°% N°X 727, the X3 continues to refute him from another source; as if

he was not already refuted from the first source.!*
= Y799 pNN W)

But »''wn consequently erased this interpretation from his handwritten w15, If we
are to assume that X277 ™% n°% 7127 in these two refutations, then: why by 912° 1’k do we
need 21°p (and how will it help).

moon will offer another possible explanation and reject it:
= Y154 199 AN9) 2392 NA9Y TN KXY ) D192 WD 1ON)

However, one cannot interpret the question of 21 %127 to mean that even if
he is capable of speaking, he should not be required, according to 7729, to
say specifically ana1 s192; only onm1 °192 should be required; since people

are learned in the requirements of 72w?, there is no need for 2031 *192. There is only a
need for onmi °192 since X277 7°7 N°K 1727, NIBOIN continues to explain why this question of

not saying 2031191 is only on 7727 and not on X2 -
- NN SDIVNIND WINT NAYY Nnabva

It is understood according to 823, who is concerned about 21K, the
saying of 2021 *101 is justified!s -

= 2105) 2392 29Y 1 29ITNINT YNN NJ )9 ON 23NN NI NIYT*T Na9Y HaN
However, according to ;729 who maintains that 7> is not valid,!® one
must say 192 therefore it will never come to 2v9mR, so why is 2ns1 %192
necessary 175w 7nx>? It would seem that anm1 »192 should be sufficient'”.

mooin does not accept this interpretation of *n1 (77\712°) 377 °X. The reason is:
= Y DIYN NAY ANDY 2193 PPNONT 11997 ¥IVN (3,10 91 2IY PID WA 1IPY XNY

For in the beginning of the second 9?2 it is apparent that since 2n>1 %192

13 Therefore, even after 7127 was refuted from the statement of 3"2w1 concerning the N*137 and we came to
the conclusion that 8317 7% n°X 727, nevertheless the X113 continues its attempt to refute 727 from the mwn
of 2127 1°K1 (and from the X°¥2°R of PX1MWw) as if 727 was not refuted and X277 % n*9. Therefore, we may ask
m1715° 7"K and "1 77 'R,
14 See X,3 77 in the X3 and MdOIN. We are concerned that people will assume that just as V37 >V 2P is W3
X"¥3, so too MWW 0P is X"va w2, This concern is valid only if one maintains that 1v7 is valid for aMp
va7, thereby making 037 ovp and wwn 01p similar.
15 The saying of ana1 191 distinguishes and separates 07 21y from N1MLW 01 that 22MR? DX KY.
16 See 18m 71"7 8,3 '0IN that according to %3 R? MYT 727 even according to the X1pon that X277 7% n°X 737,
See ‘Thinking it over’ # 5.
17 This explanation is valid for *»1 71 7"x as well.
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was instituted originally according to 1727 on account of 7R -
$9IININ DIVN 11A5Y NN IPAN 1IIINY 7987 139 NTM

721 admits that 2n>1 °191 is required to be said even Y7252 21N> on

account of 9Y9mR,'® and not merely ¥21p%p% 727 7 Xnw ovwn. Therefore, we cannot
say that the X713 thought that 2031 °192 should not be said. For in 2"5 it seems that once
1"951 was instituted 7nw? D1, then even 1725w RS that 71PN of saying 2031 °192 remains
DR awn.

SUMMARY

The question of *»1 713° 7"X and *n1 711 7"K are not readily understood. Did the
X1 expect in the first 7"X, that 177w 2nKX? we should require o1°p and not
1"92?! The second 71"R 1s even more difficult to understand; did the X n)
expect that by 1727w x> 71 there should be no 1"92 and no 01p?!

mpoIn offers four possible solutions.

1. The n"7 maintains that according to 7127 the saying of 1"91 is preferable
over 2y (even 1TM7W INRY), since 11192 offers us both 21p and nwY. The
first 7"X asks that 0vp should be sufficient and 1"92 not be required x>
1729w, The second 71"X asks that P& mw should have also inquired of X117 27 if
nmn arp is sufficient by 7; that we not require 192 since it is 1725w K.

2. The >"1 explains that the two 11"X ask the same question; if the v will not
require 2P as in 73°7M ANX2 (or 7N 2 3INR), there should be no need of
1"02. From the X3 previously it seems however, that even 172%% 9nKR?,
nevertheless 727 maintains that even in these instances 191 is required.
3.°"n>2°"wA originally maintained that the two 71"X questions did not assume

18 See ('Nm7) Xn7X 71"7 2,70 77 '0I1N. Briefly the 71wn there states if one person said an>1°192 and the other *192
anm the v3 is 709, The X3 qualifies that this is true if only one of them is a m°%w; if, however, both are
2°m>w then even in such a case it is "W2. From this the X773 infers that 1532 9 ¥"X 1A WR°27W 071w, and that
is why when one says an31 and the other anna it is w3 if they both are o>m>w because even without saying
anything it is 9w>. MoOIN asks (according to 7127), there is no proof that 121 ¥"X 03 W27W 0°1w, for perhaps
1"53 Y% 0278 WA 0°1w, however in the 7w since both 1"52 and 1"52 was said by the 2’m>w; therefore
it is 7w3. To which nvoIN responds that the X3 is of the opinion that if 9m1% 0°3°7% W°27w 021w, then one
mow saying only onmi 192 will not be 7w even if the other says 2051 °192. The reason is that saying only
anm *192 will cause that *971°K? °nX, even if the other says 2n31 *193, since it is not the same person making
both statements. We see that 2n>1 °191 needs to be said by the same person otherwise *2721°K? "nR. w'"y.

19 There can always be a slight wwn of 17m°X even if "3 X 1v7. People notice mostly what is said; not
what is not said. They see that one % can validate the v3, therefore *51711°X> *nX. However, this wwn is far
fetched. Originally the 0°n5n would never require saying 2n31 °151 for such a small wwn. However once 192
an31 was instituted mnw? 01wy, therefore even 1717w TnX? when the wwn of 7w does not exist, the 0dn
did not want to remove the original 71pn of saying an>1 "193, for they felt it will serve a purpose by
preventing even this P11 wwn of *9¥m°K. See (727 77W) Awn nbm.
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that X277 7°% n°X 727. The questions are therefore straightforward; 17152 X
there is no need for 1"92 if X217 7°% n°% 727, Ultimately >"wn himself rejected
this interpretation.

4. The two questions 11"X argued that 1725w nX? only anmi °192 be said (for
01°p) but not an21 °192. There is no need to say *92m°X DWn 2N21 °192, since
1727 maintains that *37% X? 1v7, therefore *912m°K? *NX X7. MOOIN rejected this
explanation for in 2"9 it is ¥»wn that once 1"92 was instituted nnwH 0w, the
0°5n maintained it even 1727w XY because of *9177K.

THINKING IT OVER

1. It seems from the s'n"< answer that 1"1192 is preferable to 27y 2P even
after 1725w.2° Seemingly 115w nxY (before we conclude that 77 Xaw 77772
12P%P% 127), arp is more preferable than 1"953, even according to 727, What
does the n"1 mean when he says that 101 01pn 777y 192721

2. According to 727 what is the ruling 1725w K% if an 29X brought a v3?
Does the requirement of 1"52 remain; or is 21°p sufficient?

3. What are the relative advantages and difficulties of the >"91n"9 *w17°9?

4. y19w nR?, but before we accepted the X720 of ¥21p2p% 227 I KW 77773,
1s 11v7 valid according to 7127 or not? If not, then why not, since there is only
the concern of o1p? If yes, then there is the wwn of *917m°K; so how can we
explain the X"177 of the w157 XY, who claims there is no wwn of *»7mx? 2

5. mpoIn states that 37 XY 12YT according to 7727 even 175w X2 How
can we reconcile this with what the X713 here states clearly that by 0°12 there
is no need to say 1"9217%*

20 See footnote # 5.
2l See [7RA] R"wn
22 See o"n and [7T1NXA] R"wAn.
23 See footnote # 16.
24 See "R # 107.
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